TR BT H TR BIS

Name of the Paper | ENVIRONMENTAL SCIENCE paper Code 040221
JAd . 3rqeff &1 A

Roll No. Name of Candidate

g BIAH 3ngdff & gxaer

Name of the Centre Signature of Candidate

%. °./Serial No.

I 3 e 3fpan 3id: 120 Time: 3 Hours Maximum Marks: 120
3naffat & frg srge= INSTRUCTIONS TO THE CANDIDATES

1. gHacH AR e AR 3 dia &1 snandf ged uga
STHSR e U H3A & U govele & e HWR P
et gerpR Ao | g e Wi = 81 & & fiFe
UEd BeTs St

2. T TE F ¥ Ugd Sl gAuE gRadT SR
MTANR ITR-TAHG TR AT A . feram 3R Feifa
RIFT TR GEAIER AT YARTd B

3. SO URAYH JRadT H 59 HaR U6 & S1aTal $l 120 URA
g1 3% &1 B F oI v v & 3 H Iudsy Tt
Te6! BT T B |

4. TAF A F AU IR d6fdd IR (a), (b), (¢)

IR (d) few mu g1 sraff oy e Ik &1 Te
U B, IYPT 9T B $ 918 ITR-UFd § Tt
FI 3ifpd B/

5. T &I ¥ & ol S1a /ATe St U &1 9 &) |

6. fAfafeaIceruH |
JEERUT
1. 20 R 2 FTSS DA R
@) 32 (b)38 ()31 (d)34

JUGH! U BT I IR () 7, TR SNTHIIR IR~
T o fefoied w0 1 sifdd oY

| @OOE

7. SMTYT T g, Beb ¥ ¥ 3ifdpd, el | g A1 TAd b
AT &Y 3ifYdpd TR gRI 38 Tdd Sk & *U §
T ST 3R 38 T7ad HHET S|

8. Ul B BisH ¥ Ugd STHSIR IR YR e
HI A IS |

9.  3NUHAR IR U7 &I WY | 33 A1 3 & |

10. ot U= ORI §, TS TRA TH ST FIE |

11,  Fagacy/AERd/dHs Y saacie Te/smfies
Tt & T Bt SrgHfa TR |

e Fdae

1. The booklet contains OMR sheet and having two seals.
Candidates will first open the booklet by removing the
seal at the top to get the OMR sheet. Second seal will
be removed two minutes before the commencement
of the examination.

2. Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

3. This Question Booklet consists of this cover page, and
a total 120 items.Use Blank pages available at the end
of Question Booklet for rough work.

4, There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. She/He will mark the answer
considered to be correct by filling the circle.

5. Use black/blue ball point pen to darken the circle.
6. See the following illustrations.
Illustration:
1. Thesumof20and 12is
(@ 32 (b)38 (c)31 (d)34
The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

il J000

7. Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

8. The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

9. Keep OMR Sheet straight. Do not fold it.

10.  All questions are compulsory, each question carries
one mark.

11.  Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.

Controller of Examination

FUT Aie B {5 o faviey/gfaer ot fRufa & sidich & 39 v=e &t sifaw @ smem|

Please note that in case of any confusion, the question printed in English will be considered final.




61.

62.

63.

64.

65.

66.

P I H TRIGH B aId PRB...... 8
a) Sfiared S g8

b) 43I

) ThTR AU

d) It

wAffﬁo‘quaT%l
a) 3T
b) IggIIcH

Q) qléaaﬂ
d) T3S

I1ge ¥ UN 9 ara fRafafed § § oF
1 WS IGAfAE 3ger gRT uRafdd
TR BT g ?

a) gIeRe

b) TheeWR

Q) Hege

d) ®Icol

qﬁﬁuﬁﬁa&?mwﬁwaﬁ

fou! sffaiem foram R fasa T
a) Y& TS gOm
b) TdU dgTuM

SIRIGICRII
d) AYT g

14

62.

63.

65.

66.

The factor(s) contributing to the carbon cycle. ..
a) Fossil fuel combustion

b) respiration

c) photosynthesis

d) Allofthese

Nitrogen is absorbed by the plants in the form
of....

a) Amines
b) Nitrites
c) Nitrates
d) Nitrides

Red Soilisrichin....
a) Magnesium

b) Iron

c) Phosphorus

d) Helium

Which of the following minerals found in a
granite is not altered by chemical weathering?

a) Biotite

b) Feldspar
c) Magnetite
d) Quartz

The most abundant element in the earth's crust
is...

a) Oxygen
b) Sulphur
¢) Silicon
d) Carbon

Who started the Chipko Movement?
a) Sunder Lal Bahuguna

b) HN Bahuguna

¢) RitaBahuguna

d) MedhaPatkar
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In which year, the Swachha Bharat Abhiyan was
launched?

a) 2016
b) 2015
) 2014
d) 2017

What are Carbon credits?

a) A permit which allows a country or
organization to produce a certain amount of
carbon emissions and which can be traded if
the full allowance is not used.

b) A Law that binds every organization to use
less automobiles.

c) Carbon % presentin atmosphere.
d) % Carbon emission by automobiles

In which state the Tehri dam is situated?
a) Himachal Pradesh

b) Haryana

c) J&K

d) Uttarakhand

The Zoological Survey of India (ZSI) was
establishedin 1916 to

a) promote the research and survey of the fauna
inIndia

b) carry the survey only of the fauna in India

c) carry theresearch only ofthe fauna in India

d) todocrocodile conservation breeding

In its procedure, Remote sensing uses
a) Electromagnetic waves

b) X-rays

C) gammarays

d) electricfield

Bio-distribution of elements means

a) the richness of flora and fauna in our
biological system

b) therelative occurrence of various gases in our
€co-system

c) the comparative abundance of elements in
biological systems

d) presence of biochemicals in the environment
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Stratospheric ozone is formed naturally by
chemical reactions involving

a) solar ultraviolet radiation and oxygen
molecules

b) naturally occurring gases and gases from
pollution sources

¢) automobile emissions and atmospheric gases
d) x-raysandoxygenmolecules

The photochemical smog happens mostly in the
a) winters

b) summers
¢c) monsoon
d) spring

Which of the following statement is correct?

a) Ozoneis stable in the presence of strong acids
& decomposes rapidly in basic solutions

b) Ozone is stable in the presence of strong
bases but decomposes rapidly in acidic
solutions

c) Ozone is unstable in the presence of strong
acids but stable in basic solutions

d) Ozone is stable in strong acids as well as in
basic solutions

Whatis toxicodynamics?

a) loss of dynamic hearing range due to a toxic
exposure

b) doserange between desired biological effects
and adverse health effects

¢) dynamic nature of toxic effects among
various species

d) the dynamic interactions of a toxicant with
biological target and its biological effects

‘Cyclamate’ a nonnutritive sweetener was
banned under the

a) UNresolution
b) UNESCO resolution

c) Delaney clause of the Food Additive
Amendment of 19587

d) The Paris Agreement adopted by 196 Parties
atParisin2015

The tropical Western Ghats are situated in the
state of

a) MadhyaPradesh
b) Punjab

¢) Gujarat

d) Kerala
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In a biogeochemical cycle, a chemical element
molecule moves through

a) Biosphere and lithosphere
b) Biosphere, lithosphere and atmosphere

¢) Biosphere, lithosphere, atmosphere and
hydrosphere

d) Lithosphere and atmosphere

REDD stands for

a) Recurring Emission from Deforestation and
Forest Degradation

b) Reducing Environmental Degradation and
Forest Degradation

¢) Reducing Emissions from Deforestation and
Forest Degradation

d) Reducing Emissions from Degradable
Deposits of Wastes

Land contamination is caused by which of
following toxic element(s)

a) Hg
b) Pb
c) C
d) Botha)&b)

Which country has largest share of Platinum?
a) SouthAfrica

b) Ethiopia

c) US

d) Russia

Lotka-Voltera model is the simplest model of
a) Predator-Prey interactions

b) Vander Waals interactions

¢) electrostatic interactions

d) Coulomb interactions

Which of the following is The National aquatic
animal of India?

a) Shark

b) Blue Whale

¢) SeaHorse

d) RiverDolphin
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Which nation among the following has emitted
most of the CO, into the atmosphere?

a) US

b) India
¢) Russia
d) Brazil

Ocean acidification is due to

a) Warm water

b) Cold water

¢) Sedimentation

d) Dissolved CO, in ocean water

Montreal Protocol for a framework action on
thinning ozone shield was agreed upon in

a) 1986
b) 1987
) 1977
d) 1979

80 countries stated an intention in 1989 to
completely phase out CFCs by 2000. This
declaration was

a) Helsinki Declaration
b) Montreal Protocol

¢) GenevaConvention
d) Paris Declaration

Environmental Protection Act (EPA), came into
force immediately after

a) Mayapuri Radiological Accident

b) Bhopal Gas Tragedy

¢) Visakhapatnam HPCL Refinery Blast
d) Chasnala Mining Disaster

The Ministry of Environment, Forest, and
Climate Change launched in June, 2017

a) Green Skill Development Programme

b) Skill Development Programme on
Biodiversity

¢) Green Environment Programme
d) GreenBharat Programme

The tendency of biological systems to resist
change & to remain in a state of equilibrium is
called as

a) Ecological efficiency
b) Feedback mechanism
c) Homeostatis

d) Carrying capacity
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Ecotone is described by which of the following
statement?

a) the area where two similar communities
celebrate together

b) the area where two major communities
separated from each other

c) the area where two similar communities fight
with each other

d) the area where two major communities meet
and blend together

The geologic time scale represents?
a) Theage ofthe earth and all creatures onit.
b) The geologic history of universe

¢) The order and duration of major events on
Earth for the last 4 /2 billion years.

d) The fossil record as we know it

The tendency of biological systems to resist
change & to remain in a state of equilibrium is
called as

a) Ecological efficiency
b) Feedback mechanism
¢) Homeostatis

d) Carrying capacity

What is Catchment Area (One of the components
of Roof Top Rainwater Harvesting)

a) The surface thatreceives rainfall directly
b) Theareawhich is affected by the floods
¢) Theplace where a cloud burst happens

d) None ofthe above

GRIHA stands for
a) Green Rating for Integrated Health Assessment
b) GroundRating for Integrated Habitat Assessment

¢) Government Rules for Integrated Habitat
Assessment

d) Green Rating for Integrated Habitat
Assessment

Fukushima Daiichi nuclear disaster happened in
Japan during

a) 2012Floods

b) 2011 earthquake and tsunami
c) 2012 Fire

d) None oftheabove
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Chernobyl, where a Nuclear Disaster occurred in
1986 is situated now in which of the following
countries?

a) Poland

b) Germany
¢) Ukraine
d) US

Minamata Disaster happened as a consequence of
a) Methylmercury poisoning

b) COpoisoning
¢) Cyanide poisoning
d) Methylisocyanate poisoning

The objective(s) of the Elephant Project launched
in India during 1992 is/are

a) to protect elephants, their habitat and
corridors.

b) to promote not to harm elephants for their
teeth

c) forthe Welfare of captive elephants

d) Alloftheabove

The Ramsar is concerned with the
a)
b)
c)

Protocol for animal protection

Wildlife conservation

Convention on Wetlands of International
Importance

d) National Action Plan on Climate Change

Hazardous waste management rules, 2016,
notified by the environment ministry ensures

a) Service regularization of employees
concerned

b) Source recovery and disposal of hazardous
waste in environmentally sound manner

¢)
d)

Proper utilization of the natural resources
Protection ofthe environment

Refuse Derived Fuel (RDF) is produced from
a) Combustible components

b) Municipal Solid Waste (MSW)

c) Liquid Waste

d) botha&b
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a) 10°C-15°C
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Temperature requirement for Vermicomposting

1S
a)
b)
¢)
d)

10°C-15°C
15°C-20°C
20°C-23°C
30°C-35°C

What do you mean by Energy budget of the earth?

a)

b)
©)

d)

The balance between the radiant energy that
reaches Earth from the sun and the energy
that flows from Earth back outto space

The whole financial budget of the World

The cumulative financial budget of the
Environment Ministries of all the countries

Amount of energy entering Earth’s crust

Darcy’s law is precisely valid for

a)
b)
©)
d)

Sea Water present in the oceans

Fresh water in the aquifer below sea level.
Laminar flow through sediments
Rain-Water

Best temperature range for heating of biomass
Pyrolysis process is

a)
b)
¢)
d)

500°C-900°C
400°C-500°C
900°C-950°C
1000°C-1200°C

Acidrainisaresult of:

a) Excessof CO,

b) Excessof NH,

¢) Excessof SO,and NO,
d) ExcessofH,S

Hottest part of Earth is called

a)
b)
©)
d)

Crust
Mantle
Inner core
Outer core
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Rate at which the temperature of an air parcel
changes in response to the compression or
expansion associated with elevation change is
called as

a) Windroses

b) Isothermal lapserate

c) Adiabaticlapserate

d) Isochoriclapserate

Paleoclimatology is

a) thestudy ofthe climate history of Earth

b) thestudy of air pollution levels on Earth

¢) thestudy of water pollution levels on Earth
d) thestudy ofnoise pollution levels on Earth

Gross-calorific value

a) amount of heat released by the complete
combustion of a unit of water

b) amount of heat released by the complete

combustion of aunit of natural gas

¢) amount of heat absorbed by the complete
combustion of'a unit of water
d) amount of heat absorbed by the complete

combustion of a unit of natural gas

Tundra and Taiga biome respectively are

a) a boreal forest or snow forest and a treeless
polar desert

b) a treeless polar desert and a boreal forest or

snow forest

¢) anempty place with a hole and a place where
all subcontinents submerge

d) noneofthe above

Bioassay is an analytical method to determine the

a) a concentration or potency of a substance by
its effect on living animals or plants, or on
living cells or tissues

b) the number of proteins presents in the human

body

¢) number of grams of biowaste present in a
sample

d) noneoftheabove
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dggdHURIgeH & aR H Fafiied 8 9 oF

I 87

a) U qdh-iid ol JaDIY &F BT IUTNT ddb
ST HUN BT 3T Bt &

b) TH db-Id oIl gad H SHTAfRId HUl &I
ST B §

) TP db-iich &l I BN BT 3] B! &

d) T dh-i Sl [aggd & b1 SUTNT Hch
TR HUN BT 3T Bt &

3TN DT T B o fTT UGt SEM

3R TEM &7 31 §

a) W7 Safaedhd AISHRGIY 3R CRITHRH
G ABRBIT

b) b IO AP RSB R THAERA
SAae I IS RD T

) THT ST AIZHRPIY 3R B
gaa - HISHhIDIY

d) BT S AIZHRBIY 3R TAHR
Safdgdhd AIZDHRBIY

FTIR B AT 8

a) 3,000 9 400 TH
b) 4000 ¥ 400 I
) 3,400 ¥ 200 IH
d) 4000 ¥ 1000 T’

YR | N &3 & @l uguur a-ed! &
S T 87

a) fea o form 75 Sist iR @ & 70 et
b) & & forw 55 Stet 3k 7@ # 40 Sheit
o feadfam7o et iR a# 65 St
d) 7% fomes Sietsik I # 50 Stait

Ud &1 DI ATUE GRET o AEATHD AT DI Hgl
EIn

a) STssH

b) FIfb gadidh

o i gasie

d) by gaoice

TTGRUT UGHP! Pl I8 PR & forg AmLsii o
JUANT BT Hgl SIdl &

a) SEARATSTEH

b) TAHEHRATSTA

0 HEHRASTT

d) SUdR
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Which of the following is true about
Electrophoresis?

a) A technique which separates charged

particles using magnetic field

A technique which separates charged

particles under pressure

b)

¢) Atechnique which separates neutral particles
d) A technique which separates charged

particles using electric field

SEM & TEM used for studying the morphology
stands for

a) Scanning Electrical Microscope &

Transmission Electron Microscope
b) Scanning Electron Microscope &
Transmission Electron Microscope

¢) Scanning Electron Microscope & Transfer
Electron Microscope

d) Scanning Electron Microscope & Transfer
Electrical Microscope

Therange of FTIR is
a) 3,000t0400cm’
b) 4,000t0400cm’
¢) 3,400t0200cm’
d) 4,000to01,000cm’

What are the standards of Noise Pollution
standards in Industrial areas in India?

a) 75dB fordaytime and 70 dB at night
b) 55dB fordaytime and 40 dB atnight
c) 70dB fordaytime and 65 dB atnight
d) 65 dB fordaytime and 50 dB atnight

A quantitative measurement of the relative safety
ofadrugiscalled as

a) Drugindex

b) Theranosticindex
¢) Theragnosticindex
d) Therapeutic index

The usage of microbes to destroy environmental
pollutants is termed as

a) Bioremediation

b) Biomicroremedian
¢) Microremedian

d) Remediation



